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Spot Test - 06 | Answer Key  |English

Answer Key - Tamil06

  

    

 1

     
   




 BC 
 
F1
    BC1
   BC
 
 BC2 

 
    


  4

-    
  
  


-     
  


- 
    


-     


- 


-      
  


    


    3

 

  

 

 

 


  

a)   1.5

 



  

 

    


b)   1.5

     
    
   


    


 
  


     
 

 2

- 


   
 pH 

  2

-   
 
 
   pH   

  


- 

  2

     

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
   HCl

NaOH     



- HCl + NaOH   NaCl + H
2
O

  

  Fe(NO

3
)

3
 

III
  

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      
 
   
  
   K

2
CO

3
   


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2
CO
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 
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   
  
 


 

 
     


   


    pH   


   
   2

- WHO

   
 


-  






  
  4

  
   

   





   



     

   

   



  



      

 

   

   

   



    

  





 



       

   

  

   

   

  

   



   



   



  3

  

  



 

    

  



     

     



  

   





 - 99445 11344 |  - 98942 41422 |  - 75503 52916 |  -  98431 10566 |  - 97555 520034

Spot Test - 06 | Answer Key  |English

      
   



 

      
   



 

    



   3

 

 



 

 





  




    


     
   

 2

-   


 

    

 




 2

    


   



 



    

   


   



  2

- 


        
  


    


   


 


   


    


   


 

      


-  

 1

 1

-     
  
   
 FSH 


 1

   


    
  


  2

 
  LH    
 FSH 


    LH   
 
   
    FSH   
   


    

    
   

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Spot Test - 06 | Answer Key  |English

4. FSH    LH  
   

   


  1

    

 



  


     
   
LH
   


       


 2

   
  
  

  
  
  


  


   

   
   
    


 
 2

-  


 
   


 

    

 


   
    


 
    


 



 
 

  2

-     
   
    
   


    


      
 

 3

 
   


 
  




     
   
  


   

    
   


   
 

  

- 


     


  

-     

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Spot Test - 06 | Answer Key  |English

   
   
   


   

-   
    



-     
   


     

  2

    
   

   
   

    
 



 
    



     
 



    
   
     
   



   
  

    
    

  


 

 

    

  


 

 

    



8. EHD



 

 

 



    





 



   2

      



- 

- 

- 

- 

- 

- 

- 



    

   

 

-     

   



-  



- 

  

  

  



       

   1

-   

   



    

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-    
   


    1

-    

  


- FSSAI   
    mg    mg  

 

-     

 
   


-    
 
   





     2

-  

   
   
 


-   
GHI


- ‘ ’   



- 
    
 




       2

-    
 


- 
 


  
   

    



-    


    
   
  


  
 
    



-     
  


- 
  

   
  
  
   



     

    
 

-     





- 
   


-    
    


    
  


-   


    
  



-    



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Spot Test - 06 | Answer Key  |English

    


     
 

   2

-    
   
  
  
   
  

 
  
  
    


  2

-    
     
    
   
 



    2

-    


 



    
  
  

   3

- 
   


-    NO
3 
 

   NH
4

+  


- NO
3 
   NH

2 
  

   


-     
  


-    


-    
   


-  
   


- 


-    
   


   

    

-    
  
   
  N
   
  


  3

 

   

 

 

 

  

 


 

 

 

     


-    
   NPK    
   
    N   
   


-  pH
   


     
   
  

1. BCG  

   WIA  
www.cancerinstitutewia.org   
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Spot Test - 06 | Answer Key  |English

  


     


     


 

 

     


 
www.ccrhindia.org

 


 

    
www.ccrhindia.org

 

 

 


 


 

 

      H 



     

  

    AR    1

-  AR 



   

   AR



 AR



-    AR   

  

 D 





    VR    1

-  VR 



 D 

 



   





-    

    

 VR 



    AR      VR    4

- AR  VR 

AR VR

 

AR  VR 

 

AR VR 

 

 

AR Mbps  VR Mbps 

AR   VR

AR  VR VR 

 

 

 

 
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Spot Test - 06 | Answer Key  |English

      


  1

 




     
 NDC
 
  
    



 2

-      
  
  

    



-    
   
   
   

 


-   CPP Mode 



  3

- 



-  


-      


-   


-  
  



   




-   
   



- 


-     
    



     
   

  6

 

   


 

 

 

 

 

 

 


      


 

 

 

 

  

       


  2

-   
  
   


-     
   
  
 


  2

- 
 
  
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Spot Test - 06 | Answer Key  |English

     


-    


    


    
(NBPGR) 

-     

   ICAR 


-  NGB  
  °C    


- 

     
NBPGR

 2

 

    


   
     
    

 


 4

 
    
°C°C°C
 °C  


    
   


 


      
 NBAGR   

  


      
 

 2

    





 
      
  



 


     
     


  1

     
    


 
    
   


 

   
  


 1

-  

    



   5

-     



   
  


   

-    
  
 


- 
    
  
    

  

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Spot Test - 06 | Answer Key  |English

   

-    
 
   
    

   
 




 

- 

     


- 
   
   
   


    

- 


 3

-    
    
   


-     


     
 
    


-   




     
    
  

 1

-     



- 
  
    

   


 

   1

-     
   


-  
   
 

-     


-   


 1

-    
   


-    


-    



-     



 1

- 

  


-     


- 
  


- 


   1

-   


- 
   


- 


-  
    

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   7

   





   


 

 


    
     



     
   
   


 


      
   
 
  



     

   
   


  
    


     
   


      

    
   


     



       

 




    
 
     


    



    

   


 
  


   
   


 4

-  

 
     
   


-        

  


- 
     
    


 2

-    
 


-     


-   
 
 

  2

-    
    
 


-   

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Spot Test - 06 | Answer Key  |English

   




- 
    
   


- 


  4

-     
   


-      



- 



       
      
 

 3

- 
   
    
   
    


-     
   


-  

   


- 
   
 


    3

- 
    
    


-    


-    
  




-    

 


   
 

-  


- 

    


-   
 


 3

-   

 


- 
   


-    
  
   

   
   


- 



 1

-   
    



    
 

a)  

b)  

c)  

d)    

a)   3

-    
   
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Spot Test - 06 | Answer Key  |English

    
 




-  
 


-     
 


-    

   


-    


b)   3

-  



- 



-    
  




-     
   


-      
   


-    
    





c)   3

-  
   


-  




-  
  
   




-  
   
   


-    
 
  


-    
   


d)        3

-   



-     
 


-      

    

 
   
   



-     
   
   

    


-    



   


-    
  


    

-     
 

-      
   

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Spot Test - 06 | Answer Key  |English

- 
  
    


- 
 



     

  2

- 
   


- 
   
   


 1

- 

  


 

  

-    


- 


-    
  
   
    


- 


-    



 1

-    


-     
   
 

   1

-    


-     
  


- 

 

  1

-    

  

  

   



   2

-   

  

   



- 

 

-    



  2

-    



- 



-    



      

    



     

    

- 
  

 
 2
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Spot Test - 06 | Answer Key  |English

-      
    



-     


  1

-     
        


  

-  


  2

 

   

- 



   

- 



  7

- 


- 


   

-    



  

-   
   


-

 

- 

- 
    


- 
  


- 

     
  

-  

   




-    

 



-  



   

-     





- 



- 




   

- 



- 

    


     
  

  1

-     


   



   4

   


    




     





 



    

 
   


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     
  
   



 

 
    


 
   
  



   
 


 
   


 

 
   

    
  
   


 



     


    
    
   

   2

-  


-    

 

-   
   



   2

- 
  

   



-  
   


   


-     
  

   


  
 

-      
   


-    
 
    


- 

- 
 
   
    


    
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-  

EBP   


-  
   


-    


- 
   



- 

 



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Spot Test - 06 | Answer Key  |English

- 

  

    



-      

    



- 

   

   

 



-   

   



   



- 



       

    

   

  

   

   

  

- GHI
    



-     

  



- GHI    





GHI   

 

 

 

 

 

-    

   



-      

  

GHI


   


      
 
   
   



      
 
    

    



     
    
  
   
  
 APL 
BPL


 


     
  
   





  



    
 
   


  


    
 


     

 
  
  

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Spot Test - 06 | Answer Key  |English

    


    
 

  



     

   
   



    2

-  
     



-    






 7

-      

    




-    

  



-  

    


-     
    

    



- 

    


-  
  



   


- 
 



- 

   

   




  2

-    

TANDICO   
 TIDCO   

   




-   
 TANDICO  

    



- 

   
   

   



  1

-  





 

      

   

   
  

 1

-        


     

 


 

  

 


- 


-      
  

    



  G20   2

     

- G20   


   

   
  





 - 99445 11344 |  - 98942 41422 |  - 75503 52916 |  -  98431 10566 |  - 97555 52003 21

Spot Test - 06 | Answer Key  |English

     
    
    
   
    


-    
    
   
 

   
  
   
    G20




    
1

- 
  
 G20

   
  
 MSME 

  
   
   

   


SDG  1

-   G20 
 
    
   
   

    
G20
    


    
 

- G20   
  
   

    

    

    


  

-    G20   
  


  
 -  


   3

-    G20  
   
   
   G20  
   
SDG 
   
   


- 
    
     G20 
   ASI
   


- 
G20     

   G20   
   

   
 


    1

-     
   
 



   
  

-      G20
 
 
  
   

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Spot Test - 06 | Answer Key  |English

   2

- 









-    
   

 

   
    G20


-  




   

   

  


   

 


   



  1

-    




   






- 
 

    

  


   



-     



  


  



- 

   

    


       

a)  

b)   

 

c)      

 

d)    

a)   15

-   
  
   
  
   
    



   
 

    

- 



    

- 
   
  


    

- 
   
  
   
   


rDNA  

-    
  
 rDNA


-    
   

 


    


-    
   

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- 

 

  

-   

HPV 

rDNA  

-  



b) GMO  

  

     



  



   

   

   



    

   

  

   



GM    



     

  



   

GM 



  

  

   



      

   

    

  

   



  

  



    



  

   

  





   



 







    





c)     

   

     

 

  

    

    

  



  

   



  

  

 



  

  

   



    

   

- 



  



- 


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Spot Test - 06 | Answer Key  |English

d)    

  

-    



    
 

- 
   
  
   
   
   
 
  


     


-   
   

   


   

-     

   


    

  


   

- 
 


 
   
   
  -


      

-   

 
  

   

   

    
   



  

    

     

  vs   

 
 
 

  

 
 



 
 
 

 

 
 


  

 
 



 
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Spot Test - 06 | Answer Key  |English

-     

   
  



     

- 
     
   
  

   



-    
    
   

    

 
  
   


    

- 

   

 
   

 
  

    
 
  
   

   


    

-    
   


     

-    
  
  



  
  
   


-     
    
   




     

-     

   

    
 





    

-     
    
    
   
 
 
 
  


      
    


 2

- 
    
   
    
 FLOPS   
   MIPS 



   2

-     
 


-      

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-      


- 


- 

   
   

-     


   
 



- 
   

 C-
DAC 

- 
PARAM      
   C-DAC   


-       XC40  
  
    
 IITM 



 HPC

-     
    R&D
 


-  NSM
  BHU 


TOP 500  


a)   


b)    


c) INC1  –  Lenovo  C1040   
 M

-  NSM
    

   ITES 

   
 
   


 2

-    


-    


-    


   


- 

-  
 
  
 


 1

  

  
    

    

    
   
 


     
    
    
   


   15



-    


-        


- 
    


   

- 

- 
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- 

- 



- 

- 
   


  

   

-    


    


-   


     

-    



   

- 


      
    
  

   
  

     

- 

-   


- 


-      


   

- G

- 

- 

 

-     


- 

   

-    


-  


- $1 

- SDG 

 

-   


- 

   

-   


-     


- 

    

- 


- 

  

- US-
 

-  

- 

- 

-       
- 

- 

 TN

- 

 -

 

- 



-   
   


        
   
    
    

  1

 


     


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Spot Test - 06 | Answer Key  |English

 
    
 


     



 1

-     
   
 
  
    ASER  
    






 1

-     
   
   


  1

-    
    
   


- 



-    



- 
 



   


  1

-  


    


  
   


     


    
 

    5

      
   
    

   


     
 
   


   


    
  


   
   
   


   


  
   
   

   
   
    


     
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-   

    
   
   
    



-   
  
    


- 


  
 

- 

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Spot Test - 06 | Answer Key  |English

   


- 
    


-  



-    
  


-  


-    


- 


-  

 


 1

 
    


     

    
    



 

   
   
   


    
  


      
   
    
 

 1

- 

   


   

    
    




   3

  
   


   



 
  


  
    


 


     
   


 


 

  
  


  (Testes)     
   


 
 


 
   


    1

-    
  
   
  
   
    
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Spot Test - 06 | Answer Key  |English

   



   





  

  

    

    

        



  

   

    



   8

  

-  

  

   

  



  

- 



   

   



  

-    









 

- 





  

    







   

- 



  

 

    



   

-  



    

  

   

   



   



   

- 

   

    



   



   

-    

   

   

 





  

-   

   

    

 

   

- I II MEN I & MEN II

    



   

  


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Spot Test - 06 | Answer Key  |English

        PCOS 

-   

  

  

 PCOS 

 

-  

   

   

    

 

PCOS





- 

  





  

 

    

  





        

     



 1

- GI

   

   

    

 

- GI       

 



    



- GI      

  



 



GI  2

  



 



     



      





 

 

-    





- 

-    

   WIPO  

 WTO 



WIPO 1

- WIPO   

 



 

 

 

WTO 1

-     WTO



-    



    

  

-  

   


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

    

  

  

  

  

  

  

  

  

9 E.I 

  

  

  

  

  

  

   

  

  

  

   

  ) 

  

   

  

  

  

   

  

  

  

  

  

  

  

  

   

  

  

  


